
5398 5398.5 5399 5399.5 5400
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

4−

3.5−

3−

2.5−

2−

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

6087

6087.5

6088

6088.5

6089

6089.5

6090

6090.5

6091

ru
n

run:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6089}



5398 5398.5 5399 5399.5 5400
cyclenum

80−

79.5−

79−

78.5−

78−us
l_

1X
usl_1X:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

2.6

2.8

3

3.2

3.4

3.6

3.8

4

4.2

4.4

4.6

4.8

us
l_

4a
Y

usl_4aY:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

47.6

47.8

48

48.2

48.4

48.6

48.8

49

49.2

49.4

49.6

49.8

us
l_

4e
X

usl_4eX:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

18

18.5

19

19.5

20

us
l_

4e
Y

usl_4eY:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

42.5−

42−

41.5−

41−

40.5−

us
l_

12
X

usl_12X:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

6087

6087.5

6088

6088.5

6089

6089.5

6090

6090.5

6091

ru
n

run:cyclenum {run == 6089}



5398 5398.5 5399 5399.5 5400
cyclenum

129.8−

129.6−

129.4−

129.2−

129−

128.8−

128.6−

128.4−

128.2−

128−

127.8−

127.6−

us
r_

1X

usr_1X:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

4

4.5

5

5.5

6

us
r_

4a
Y

usr_4aY:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

221.6

221.8

222

222.2

222.4

222.6

222.8

223

223.2

223.4

223.6

223.8

us
r_

4e
X

usr_4eX:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

13

13.5

14

14.5

15

us
r_

4e
Y

usr_4eY:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

45.8−

45.6−

45.4−

45.2−

45−

44.8−

44.6−

44.4−

44.2−

44−

43.8−

43.6−

us
r_

12
X

usr_12X:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

6087

6087.5

6088

6088.5

6089

6089.5

6090

6090.5

6091

ru
n

run:cyclenum {run == 6089}



5398 5398.5 5399 5399.5 5400
cyclenum

18878.5

18879

18879.5

18880

18880.5

us
l_

co
il1

usl_coil1:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

3116.6

3116.8

3117

3117.2

3117.4

3117.6

3117.8

3118

3118.2

3118.4

3118.6

3118.8

us
l_

co
il3

usl_coil3:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

4797.6

4797.8

4798

4798.2

4798.4

4798.6

4798.8

4799

4799.2

4799.4

4799.6

4799.8

us
l_

co
il4

usl_coil4:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

229

229.5

230

230.5

231

us
l_

co
il6

usl_coil6:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

7173.5

7174

7174.5

7175

7175.5

us
l_

co
il7

usl_coil7:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

6087

6087.5

6088

6088.5

6089

6089.5

6090

6090.5

6091

ru
n

run:cyclenum {run == 6089}



5398 5398.5 5399 5399.5 5400
cyclenum

15879.4−

15879.2−

15879−

15878.8−

15878.6−

15878.4−

15878.2−

15878−

15877.8−

15877.6−

15877.4−

15877.2−

us
r_

co
il1

usr_coil1:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

2542.5−

2542−

2541.5−

2541−

2540.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

4390.5

4391

4391.5

4392

4392.5

us
r_

co
il4

usr_coil4:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

113.5−

113−

112.5−

112−

111.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

34485.5

34486

34486.5

34487

34487.5

us
r_

co
il7

usr_coil7:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

6087

6087.5

6088

6088.5

6089

6089.5

6090

6090.5

6091

ru
n

run:cyclenum {run == 6089}



5398 5398.5 5399 5399.5 5400
cyclenum

292.8−

292.6−

292.4−

292.2−

292−

291.8−

291.6−

291.4−

291.2−

291−

290.8−

290.6−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

21−

20.5−

20−

19.5−

19−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

313.5

314

314.5

315

315.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

288.5−

288−

287.5−

287−

286.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

40.8−

40.6−

40.4−

40.2−

40−

39.8−

39.6−

39.4−

39.2−

39−

38.8−

38.6−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

236

236.5

237

237.5

238

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6089}



5398 5398.5 5399 5399.5 5400
cyclenum

200

200.5

201

201.5

202

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

71

71.5

72

72.5

73

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

19−

18.5−

18−

17.5−

17−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

211

211.5

212

212.5

213

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

18.5

19

19.5

20

20.5

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

17.8−

17.6−

17.4−

17.2−

17−

16.8−

16.6−

16.4−

16.2−

16−

15.8−

15.6−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6089}



5398 5398.5 5399 5399.5 5400
cyclenum

236.5−

236−

235.5−

235−

234.5−12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

82.5−

82−

81.5−

81−

80.5−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

2.5

3

3.5

4

4.5

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

8.6

8.8

9

9.2

9.4

9.6

9.8

10

10.2

10.4

10.6

10.8

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

504−

503.5−

503−

502.5−

502−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6089}

5398 5398.5 5399 5399.5 5400
cyclenum

6087

6087.5

6088

6088.5

6089

6089.5

6090

6090.5

6091

ru
n

run:cyclenum {run == 6089}
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